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ESERCIZIO TIPO 4

Sia A(α) =

α− 1 1 α− 1
α− 1 1 −1

0 1 0

 , dove α ∈ R. Per quegli α ∈ R per cui

A(α) è non singolare, si calcoli A(α)−1.

(
A(α) | I3

)
=

α− 1 1 α− 1 | 1 0 0
α− 1 1 −1 | 0 1 0

0 1 0 | 0 0 1

 α 6= 1 : A(1) non ha inversa
−−−−−−−−−−−−−−−−−−−−−−−→

E21(−α+1)E1(
1

α−1 )

−−−−−−−−−−−−−−−→

1 1
α−1 1 | 1

α−1 0 0
0 0 −α | −1 1 0
0 1 0 | 0 0 1

 E23

−−−−−−−−−−−−−−−−−→

→

1 1
α−1 1 | 1

α−1 0 0
0 1 0 | 0 0 1
0 0 −α | −1 1 0

 α 6= 0 : A(0) non ha inversa E3(− 1
α )

−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−−→

→

1 1
α−1 1 | 1

α−1 0 0
0 1 0 | 0 0 1
0 0 1 | 1

α − 1
α 0

 E13(−1)

−−−−→

1 1
α−1 0 | 1

α(α−1)
1
α 0

0 1 0 | 0 0 1
0 0 1 | 1

α − 1
α 0

→
E12(− 1

α−1 )

−−−−−−−−−−→

1 0 0 | 1
α(α−1)

1
α − 1

α−1

0 1 0 | 0 0 1
0 0 1 | 1

α − 1
α 0

 =
(
I3|A(α)−1

)
.

Se α /∈ {0, 1} A(α)−1 =

 1
α(α−1)

1
α − 1

α−1

0 0 1
1
α − 1

α 0

 .
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